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Lattice 3 by 2

Use lattice multiplication to solve each problem.
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ﬂh Lattice 3 by 2 Name: Answer Key

Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
114 x 41 = 447 x 34 = 450 x 44 = . 4674
1 1 4 4 4 7 4 5 0
0.0t a L2 s L2 % a2 15,198
Of(.,” 4,7 4,7 6 1.7 2.7 2|.,7 1 1(.,7 6|,72 0],70
//0 // 0 // O 4 // 1 // 1 // 2 7 // 1 // 2 // 0 4
4 s s ,/ 4 s / // 4 4 4 // 1
al 1] 1|, alt 5.7 6|.” 6|, 8|t ol 6| ol 0| 9,800
// 6 // 7 // 4 // l // 9 // 8 // 8 // O // O
7 7 Vi 4 4 4 7 7 7 4 34,461
5, 73,005
Y s47x63= ® 785x93= ©) 322 36=
6. 11,592
5 4 7 7 8 5 3 2 2
3 // 2 // 4 // 6 // 7 // 4 // 0 // O // 0 //
3|, 0|, 4|, 2|® 713 2], 5 |° 1.9l 6|, 6|3 |7 3,793
A2, A2 2, A
4.5 2,1 3.7 "1].74|,”'5 .78 21,7 2|° [|s 9,116
/// 4 /// 6/// l /// O /// O/// 5 /// 5 , ’ 9/// 2
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7 139 x 27 = 8) 172 x 53 = 9 766 x 81 =
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10) 131 x84 = 11) 737 x 83 = 12) 679x91=
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